
Algebra 1 ECA Remediation     Name________________________________ 

Homework 34.3 

Solve each figure for the variable given. 
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Area = 1 sq. un. 

Area =  
462.25  
sq. un. 

Ar
ea

 =
 1

27
5 

 sq
. u

n.
 

x-3 

x+30 

x-20 

x-20 

x-600 

x-200 

x+10 

x+80 

x+1 

x+1 



©G 62N0j1O4b cK7ult7aI xSUo2fDtWwEaLrJe0 PLkL8Cv.N H OA3lUlw irAifg4hstKsP Dr4eLsLeLrEvVeKdI.Q 9 2MvaMd8e1 pwWiftGhL EINnZfVipnliYtvey rAMldg7eZbDrdan q18.d Worksheet by Kuta Software LLC

©9 V2V0O1L4E yKxu0tpaQ FSZo6f5tnwdaurceM 5LBLACf.B G QAllTlt Lr5irghhAt8sr VrreesveArqv7eldj.d

Factor each completely.

1)  

 

a

 

a 2)  

 

v

 

v

3)  

 

k

 

k 4)  

 

v

 

v
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Answers to Homework 34.3 

1.  8  2.  5  3.  5  4.  20.5  5.  21  6.  650 

7.  (a – 2)(a + 1)  8.  (v + 7)(v + 4)  9.  (k + 3)(k – 6)  10.  (v + 10)(v + 7) 




